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m::;ag;rls;;(t)elr: make usc of counterweights to reduce the force needed by the motor. If the elevator has a
S g and the counterweight has a mass of 1250 kg, find the acceleration of the elevator and the

tension i "
ension in the cable. Assume the pulley is frictionless and the mass of the cord is negligible.
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9. Some bank robbers have pushed a 1000kg safe to a second-story window:——-—— 5t o0 N d - \
e Th_cy plan to break the window, then lower the safe 3.0 m to their truck. Not i, o l Ay £
being too clever, they stack up 500 kg of furniture, tie a rope between the {5‘::::&:
safe and the furniture, and place the rope over a pulley. Then they push the \ - ,_f ], . _
safe out the window. Assume pulley is frictionless and mass of the cord is Schee = i e Wik i =
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a. What is the safe’s acceleration? ) ULy = _ago
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b. What is the tension in the rope? Frs = Fre AONACN |8 Same acios o
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c. (Extra: what is the speed of the safe when it hits the truck?)
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-V. The 1000 kg steel beam t L
: o the right is
What is the tension in each rope‘.g Supported by two ropes.
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11. A mass m; = 25.0 kg and a mass m,= 35.0 kg are placed on an incline system as shown.
a. What is the acceleration for each block? frgiffier i i‘:ﬁlé‘f(ﬁ“/\ e M@)g arr g_,w\'),\‘;
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t; The surface of the incline is sandblasted to give it a rough texture. If p = 0.80 between m; and.

{ incline, what is the new acceleration for each block? > ml(j N &« \ s ‘
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